2 3 | 4 5 I 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
il A [NEW RELEASE LJH 08/13/05' Y LJC 08/13/05’
ITEM | PART NAME Qty NOTES C | semyeimsnges o f YCH 07/18/08’ o LJC 07/18/08’
— — 1 PLASTIC HOOD | 2 | SEE P/N D [sn 4ms sm YCH 05/20/10° Y LJIC 05/20/10’
—— (T L | [ g ) 2.1 LONG BOLT 2 #4—40 E CUOMB* 12 IR ET JyM3%10 YCH 08/30/10’ 2 LJC 08/30/10°
n ! - 2.2| SHORT BOLT 2 #4—40 F |ADD P/N CODE LIC 12/24/13 % LIC 12/24/13
I — 3 NUT 2 M3 H ADD LOGO JLZ 12/17/14 N
4 LONG SCREW 2 M3
NOTES:
24.99 5 SMARE WASEER 2 1. Hardwares are all Nickel plated.
6 SHORT SCREW 2 M3 2. PART NUMBER CODE:
7 METAL WASHER 2 M3 DS1045 — 09 X X X X X — XL
Hood Materials ®
30.8 A ABS
12.0 B: Similar ABS
1 Washer type
N 1: Metal
5
— ‘ — N
-l = ]
L ‘ U S: Short
I Packing type
1: Mix packing
‘ © i 2: Separation packing
| 3 5 Q: Full packing
‘ ¥, Cover Material
|— ! P: Plastic(ABS)
- |- B - I E i Cover Color
‘ N A: Gray
I B: Black
V: lvory
t\l_;‘_l;// Position
y G-, & SHORT SCREW 2 09: 9pin
‘ % Wwosj
S UN;:#A—MJ M3 3
2 AN
70 4—40 UNC 8 g ® T o
| i 8 o o 5.40
|
[ @ \ o I N 7%7 Short BOLT NUT  t=2.3mm
e 4.0] | I M5 11.8 4 5
[ =] - Q 480
| 6 2 0o N ‘
1 13.5 s ]
30.5 N— } &;é :
44
]
Long BOLT LONG SCREW
SMALL WASHER
GENERAL TOLERANCEH ANGLE TOLERANCE | PROJECTION | @) -EF | TITLE | D-SUB Plastic Hood 180°
X.  +0.60 X. 5 UNITS mm 9 Positions
X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2° =
DRAWING TYPE |COSTOMER = 45;];] EE‘ ? ﬁ‘ BE /A\ a
SCALE 1 _IsHeer 11 oF 1| S e CONj;lFLY ELECTRONIC CO., LTD
DRAWING NO. |C—DS1045—09XXXXX—X—H "
I 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


2 3 I 4 5 | 6 | L 8
BOM LIST REV. DESCRIPTION DRAWN CHECKED APPROVED
: A | NEW RELEASE LJH 05/18/05" ~ LJC 05/18/05'
TEM | PART NAK Gty NOIES C_|myihliE2 ) | YCH 07/18/08’ ~ LIC 07/18/08'
/_ﬂ—g—ﬁﬂ 1 PLASTIC HOOD 2 SEE P/N D * lj” it m YCH 05/20/10, ~ LJC 05/20/10,
u_m_u‘ 5 | 21| LONG BOLT 2 #4-40 E |ADD P/N CODE LJC 12/24/13 ~ LIC 12/24/13
| 2.2| SHORT BOLT 2 #4-40 G ADD LOGO JLZ 12/17/14° e
‘ 33.32 ‘ S NUT 2 M3 NOTES:
39.2 4 LONG SCREW 2 M3 1. Hardwares are all Nickel plated.
. 2. PART NUMBER CODE:
5 SMALL WASHER 2 DS1045 — 15 X X X X X — ><L
6 SHORT SCREW 2 M3 QfO/SBSMO‘eﬂD‘S ®
7 METAL WASHER 2 M3 B: Similar ABS
Washer type
1: Metal
1 Bolt type
L: L
= _\ S: Short
| \ | Packing type
1: Mix packing
2: Separation packing
Q: Full packing
CORNRELY. C Material
- o| D e pho
0 1~ - Cover Color
e 2 1.0 A: Gray
[ @‘%@ & UNC#4—40 B: Black
V: Ivory
] Position
if¥f4|f|f—f 15: 15pin
— \g/
Short BOLT
8.0
2
4—40 UNC g
C R v\
9.9 — \ é% LONG SCREW ( NUT  t=2.3mm
Y \ T 4.0 ~ L g
w 6.6 S: " 6 5 4.8
‘ ] 13.5 < 3 ?7-7 |
: I g 30.5 M3 5.9 69.0 _\ ;
44 TN 23 2
232 | o
7 o Long BOLT 74,&&, L é\ 2
)| V") i
7 : l :
i I SHORT SCREW SMALL WASHER
M3 GENERAL TOLERANCE] ANGLE TOLERANCE | PROJECTION @,G TITLE | D-SUB Plastic Hood 180°
- o X. +0.60 X. 15 UNITS mm 15 Positions
o X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX +2° =
DRAWING TYPE |COSTOMER = ﬁ]}] EE ? ﬁ IEE Z\ a
s 11_|SHEET |1 OF 1 > CONNFLY ELECTRONIC CO., LTD
DRAWING NO. |c—DS1045—15XxXxxX—x—g| SOMNMNFLY .y
! 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


2 3 4 5 | 6 | L 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
BOM LIST A |NEW RELEASE LJH 10/26/05’ ~ LJC 10/26/05
ITEM PART NAME Q'ty NOTES C | B r i aing 22 ) YCH 07/18/08’ ~ LJC 07/18/08’
54.0 1 PLASTIC HOOD 2 SEE P/N D DIt TR S| YCH 05/20/10’ v LJC 05/20/10
47.04 5 |21 LONG BOLT 2 #4-40 E |[ADD P/N CODE LIC 12/24/13 ~ LJIC 12/24/13’
1 1' 5 [ 2.2 SHORT BOLT 2 #4—40 c |ADD LOGO JLZ 12/17/14 ~U
: 3 NUT 2 M3
! \ \ 4 LONG SCREW 2 | M3 NOTES: .
! : 1. Hardwares are all Nickel plated.
-ltl'l: i :I'Iﬂ 5 SMALL WASHER 2 2. PART NUMBER CODE:
T ; 7 6 SHORT SCREW 2 M3 A R R XLHood Materials ®
‘ 7 METAL WASHER 2 M3 2 . S o ABS
2, 1.0 . Washer type
s/ UNC#4-40 1: Metal
8.0 []
% 7ti’4"5|7’ Bolt type
! é LS%T;;((
‘ 7Pock:\ng typ_e
i Short BOLT ;:: ggpoﬁi}fﬁ:gpockmg
i Q: Full packing
‘ —————Cover Material
) P: Plastic(ABS)
L————Cover Color
ot :fr ] l@ 2 Gray
3 | M3 o plock
1 ————————Position
‘ - 25: 25pin
i ’ T
= . | . NUT  t=2.3mm
C ‘ Wy,
\ - &
40.8 5
4.8
4—40 UNC “O’_ n \ 5 ! T
— \ & | :
4.0 tj
6.6 > M t
13.5 3 ¥
30.5
44 6
Long BOLT M3 &
SHORT SCREW
GENERAL TOLERANCE ANGLE TOLERANCE | PROJECTION @{} TITLE | D-SUB Plastic Hood 180°
X +0.60 X 45 UNITS mm 25 Positions
X :to:38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX 2
»
DRAWING TYPE [COSTOMER }I% ﬁ]}] EE ? ﬁ I}E /A.\ a
SCALE 1:1 |SHEET [1 OF 1 o
DRAWING NO. lo—DsS1045—25x00xx—x—g| €onnFy® CONNFLY ELECTRONIC CO., LTD
1 2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


1 2 4 5 | 6 I 7 I 8
- REV. DESCRIPTION DRAWN CHECKED APPROVED
; A |NEW RELEASE LJH 10/26/05 ~ LJC 10/26/05’
‘IEM ;CSWCNAXSOD Q;y — 2%5 C | mmunimige ] F YCH 07/18/08’ ~ LJC 07/18/08’
LONG BOLT 3 #2—40 D | " Amar R YCH 05/20/10’ ~ LJC 05/20/10
2 ’ ’
SHORT BOLT 5 #2—40 E |ADD P/N CODE LJC 12/24-/13, ~ LJIC 12/24/13
3 KT > o G |ADD LOGO JLZ 12/17/14 ~
4 LONG SCREW 2 M3 NOTES: )
1. Hardwares are all Nickel plated.
5 SMALL WASHER 2 2. PART NUMBER CODE:
DS1045 — 37 X X X X X — X
6 SHORT SCREW 2 M3 TTTT T Hood Materials ®
7 METAL WASHER 2 M3 éi g?{im ABS
Washer type
1: Metal
Bolt type
= s )
P;:ck\'ng type
? 1: Mix packing
13.7 2: Separation packing
A/J 1.0 Q: Full packing
& UNC#4—40 T R atetns)
‘ A L————Cover Color
B e & Sk
V: Ivory
——————————Position
| o 37: 37pin
o Ik {* Short BOLT
3 4

M3

T

NUT  t=2.3mm
12.05
4.8
EARN
2 \ 232 L [ o
13.70 | 4—40 UNC g - H< l 5
f 1 . \ ﬁl i
L ] SMALL WASHER
«0 >
6.6 3 - ¢}
13.5 9 < .9
30.5 % \ §
44 — - —
Long BOLT
SHORT SCREW
240 ' . GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @ﬂ» TITLE | D-SUB Plastic Hood 180°
8o M X.  +0.60 X,  +5 UNITS mm 37 Positions
— = X +0.38 X +3 SHEET SIZE A4 SERIES | DS1045 SERIES
éi}ﬁ%ﬂ’il XX +0.25 XX 2

& . DRAWING TYPE|COSTOMER @ }% ;}])] EE‘ ? ﬁ I:{E /ZA\ Elj

SCALE 1:1 |SHEET [1 OF 1
DRAWING NO. C—DS1045—37xxxxx—x—c| €onnFLy® CONNFLY ELECTRONIC CO., LTD

2 3 4 | 5 6 I 7 I 8



Administrator
新建图章


4 5 | 6 | 7 | 8
REV. DESCRIPTION DRAWN CHECKED APPROVED
A | NEW RELEASE YCH 05/24/11 ~ LIC 05/24/11"
B |ADD P/N CODE LIC  12/24/13 ~ LIC 12/24/13
C | Arrange Drawing JLZ 10/09/14' ~ LIC 10/09/14
69.50 D |[ADD LOGO JLZ 12/17/14 ~
61.00
NOTES:
1. Hardwares are all Nickel plated.
2. PART NUMBER CODE:
DS1045 — 50 X X X — X
LHcod Materials®
A: ABS
B: Similar ABS
1 Packing type
11.10 53.80 \ 1: Mix packing
2: Separation packing
Cover Color
CR i > | [N A A: Gray
\ B: Black

45.90

49.79

12.72
3 &
A
BOM LIST
ITEM PART NAME Q’ty NOTES

1 PLASTIC HOOD 2 SEE P/N

2 BOLT 2 #4740

3 NUT 2 M3

4 M3*10 SCREW 2 M3

5 M3*12 SCREW 2 M3

6 BIG WASHER 2 M3

Cover Material
P: Plastic(ABS)

Position
50: 50pin

3
M3
& -

NUT  t=2.3mm

#4.0

6.0

UNC#4-40 & Y
5.0

4
J11.5
&7 o

LONG SCREW
6
5
S ;3.5
LONG SCREW BIG WASHER
GENERAL TOLERANCE| ANGLE TOLERANCE | PROJECTION @ﬂ TlTLEl D-SUB Plastic Hood 180°

X. +0.60 X. +5° UNITS mm 50 Positions
X +0.38 X 13 SHEET SIZE A4 SERIES | DS1045 SERIES
XX +0.25 XX 2

DRAWING TYPE [CUSTOMER

SCALE 1:1

[SHEET [ 1 OF 1

DRAWING NO.

C—DS1045—-50XXX—X—-D

= T R A

connFLy® CONNFLY ELECTRONIC CO., LTD

4 |

5 6

I 7

| 8



Administrator
新建图章


